
Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  9/03/2013 9:28 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
359604 3 573234 Wire saw DS WSS30 assy  03.09.2013 USD / 350372 / * / C 1/5
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

5 276353 8 PC Hexagon screw M12X168.8-A2K

6 359758 4 PC Circlip A50X2

7 50843 22 PC Hexagon screw M12X308.8 - A2K

8 221836 22 PC Washer 13140 HV - A2K

9 276352 32 PC Hex skt hd cap screw M8X108.8-A2K

10 359760 4 PC Side plate right

11 359761 16 PC Hex skt hd cap screw M5X8

12 359759 4 PC Side plate left

13 359766 4 PC Guard plate

14 359764 8 PC Threaded bolt

15 359763 8 PC Distance washer

16 359762 8 PC Disc spring 50X25.4X1.5

17 276360 2 PC Screw

18 229068 2 PC Hexagon nut M128 - A2K

19 359778 4 PC Runner assy

20 276024 12 PC Grooved ball bearing 25X47X12-RS6005-RS

21 276364 1 PC Clamping piece

22 276027 1 PC Palm grip M10X30

24 359777 2 PC Hollow shaft

28 276369 2 PC Clamping piece

29 276025 1 PC Absorber

30 276370 1 PC Angle

31 276371 1 PC Clamping piece



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  9/03/2013 9:28 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
359604 3 573234 Wire saw DS WSS30 assy  03.09.2013 USD / 350372 / * / C 2/5
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

32 221328 5 PC Hex skt csk hd scr M8X2010.9 - A2K

33 276372 1 PC Clamping piece

35 276355 2 PC Hex skt csk hd scr M8X258.8-A2K

36 276374 1 PC Screw

37 276356 1 PC Hexagon screw M12X608.8 - A2K

38 276375 1 PC Spacer

39 276376 1 PC Lever

40 276357 2 PC Hexagon screw M16X408.8 - A2K

41 276210 1 PC Rating plate DS WSS30

42 276377 1 PC Warning sign assy

43 276378 1 PC Attachment

44 66295 2 PC Washer 8.4140 HV - A2K

45 221892 2 PC Hex skt hd cap screw M8X168.8 - A2K

46 276379 1 PC Protective shield

47 276380 3 PC Fastening screw

48 276359 1 PC Grip

49 221528 27 PC Hex skt csk hd scr M6X1210.9 - A2

50 276373 1 PC Clamping piece

51 226506 3 PC Hex skt hd cap screw M6X1212.9 - ZINTEC

52 276382 2 PC Runner

53 276383 1 PC Bearing bushing

54 276384 1 PC Torsion spring

55 276385 2 PC Spacing sleeve



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  9/03/2013 9:28 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
359604 3 573234 Wire saw DS WSS30 assy  03.09.2013 USD / 350372 / * / C 3/5
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

56 242262 1 PC Hexagon screw M12X508.8 - A2K

57 276386 1 PC Magazine spindle

58 276387 1 PC Magazine cage

59 276388 1 PC Protective cover

60 276389 1 PC Bearing bushing

61 276390 2 PC Side plate

63 276392 1 PC Clamping piece

64 276358 5 PC Hex skt csk hd scr M8X12 - A4 stnls.A4-70

65 356701 2 PC Seal GK

66 357155 2 PC Coupler G+K/IG/1/2"

67 358290 2 PC Ball cock 1/2"

68 276366 1 PC Hose coupling assy

69 358309 1 PC Coupler 1/4"

70 356660 4 PC Clamping lever

71 276381 1 PC Clamping piece assy

72 359757 2 PC Clamping piece

73 359765 4 PC Guard plate

74 221690 1 PC Connecting piece 1/4"

75 2059833 1 PC Fastening plate welded

815 312670 1 PC Grease RETIN.HD2 400GR

901 3994 1 PC Adhesive LOCTITE 243 50CCM
 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  9/03/2013 9:28 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
359604 3 573234 Wire saw DS WSS30 assy  03.09.2013 USD / 350372 / * / C 4/5
  

 

 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  9/03/2013 9:28 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
359604 3 573234 Wire saw DS WSS30 assy  03.09.2013 USD / 350372 / * / C 5/5
  

 

 


